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QUESTION 1

A vSphere Administrator observes that the Primary VM configured with Fault Tolerance is executing 

slowly. After further investigation, it is determined that the Secondary VM is on an overcommitted ESXi 

host. 

What two methods will correct the problem? (Choose two.) 

A. Configure a CPU limit on the Primary VM which will also apply to the Secondary VM. 

B. Turn off and turn on FT in order to recreate the Secondary VM on a different datastore. 

C. Use Storage vMotion to migrate the Secondary VM to another datastore. 

D. Use vMotion to migrate the Secondary VM to a different ESXi host. 

Correct Answer: BD 

 

QUESTION 2

Which three requirements are needed to apply RAID 5 or RAID 6 erasure coding on a vSAN 6.2 or 6.5 object? (Choose
three.) 

A. on Disk Format 3.0 

B. Hybrid vSAN 

C. All Flash vSAN 

D. vSAN Advanced License 

E. Stretched Cluster Configurations 

Correct Answer: ACD 

 

QUESTION 3

In order to use vCenter Converter Standalone to convert a Windows 8 physical machine to a virtual machine, which
statement is true? 

A. Volume layout can be reorganized on the destination virtual machine as long as the physical machine is powered off. 

B. The physical machine cannot be converted because vCenter Converter Standalone does not support Windows 8
machines. 

C. Volumes can be resized on the destination virtual machine as long as the physical machine is powered on. 

D. The destination virtual machine can be created as a linked clone. 
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Correct Answer: C 

 

QUESTION 4

How can a vSphere administrator ensure that a set of virtual machines run on different hosts in a DRS cluster? 

A. Add the VMs to a vApp. 

B. Use a VM-Host affinity rule. 

C. Place the VMs in different folders. 

D. Use a VM-VM affinity rule. 

Correct Answer: D 

 

QUESTION 5

Which two datapoints does VM Monitoring evaluate before resetting a virtual machine? (Choose two.) 

A. High CPU activity on the VM 

B. High CPU activity on the ESXi host running the VM 

C. Heartbeats sent from VMware Tools 

D. High memory utilization on the VM 

E. I/O activity 

Correct Answer: CE 
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